Microeconomics (Skill Development Exercise) 





1) Suppose in a perfectly competitive market, price of product is Rs. 10 and average cost function is given below.

AC = Q2 +3/2Q –8 +9/Q

1. Use the condition of MC= MR to find the equilibrium of the firm.

2. First derive profit function then maximize the profit function.

2) Maximize profit for a given total Revenue = 4000Q-33Q2

And total cost is   C = 2Q3 –3Q2 + 400Q +5000

3) It is said that firms under perfect competition operates where MC = MR and ATC is minimum, i.e efficient scale of production. 

Draw the diagram explaining the above situation, and explain whether firm is making any kind of profit or not?

4) What is difference between economic profit and business profit?

What are the conditions under which firm may decide to shut down in short-run?

What are the conditions under which a firm may decide to exit or enter in an industry in long run?

Draw short-run and long-run supply curves of a firm under perfect competition.
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